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YAV/YNT Gyl plad = Al gt (A o ¥ 2al0Ls) s Leau - Aalad) & g3l sl yold aLa) Balgds (sl

All chemical equations you give should | _aLwest OI¥slad) aian oS!
be balanced including the conditions of | Sl o i S e i i

the reaction. . ;
Answer the following questions: PAGY A e e

Choose to answer (a) or (b). 1) 91 (1) 5o Agla 1 i -\
Write down the scientific concept thatis| :5)Lal Lo JIA Gelall allamel| OSI
expressed as : G0 olas JelsS pusiun JEDI uaic (1)

(a) A transition element used as a catalyst| . (u2g0- mla) 2a by jalacdi jlé Ao
in the industry of ammonia by (Haber- [sSisl L2 apliy jolic e game (o)
Bosch) method. o2 aaiy (Ad) Leyalt ssiwett

(b) A series of elements in which the sublevel | .98t Jgamtt (yo dualnd iz
(4d) 1s filled successively and located in
the fifth period in the periodic table.

Choose to answer (a) or (b). 1(2) 9l (1) (e Aol 5 - Y
Show by chemical equations a confirmatory | 43S 4 yo3 40 LeesI O¥ s ladl s
test to detect for: 1 (e adsy
(a) Sulphate anion. Sl S (3901 (1)
(b) Thiosulphate anion. Ol S 5531 0907 ()
2
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YAV/YNT Gty alatl - LA jgat (A o ¥ 2300 s Lea - Aalad) A g3l Aty alad| Balgs (yloital

Choose to answer (a) or (b). 1(2) 91 (1) pe Aala M) e ¥
Explain: :
(a) The rate of the chemical reaction depends | casis b ilee.st Jo Lot 1 ae o atis (1)
on the type of bonding in the reactants. lelaial) sl gedf B dasl il ¢ g9
(b) The electric conductivity of sulphuric acid | cleu yS3 paes S g5 an 53 31333 ¥ (o)
does not increase by dilution. BN Bl 5 s peSTT 5L

[EB) Mention one importance of the chemical | 2 Lot Jlill Gy doanl ;S50 =€
analysis in the medical field. codatf Jlowe

Choose the correct answer: s Asuiouall Al W1y -0
On mixing two equal volumes of hydrochloric | jass sl (3o (o glucis (pam dalss wic
acid and calcium hydroxide solutions, each 5T pgeaad IS S gy Ly 35S 5 gl
1s of. concentration 1 Molar , the produced L ploal| 353 ¥ 30 1 Lagie S
solution would have:

(@) an acidic effect. SOl e @
(®  pH value equal 7. T gskst pHawd (Q
(©  an alkaline effect. slligss ()
(@  pH value greater than 7. -7 (e T4t pHaoss @

3
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YAV/YNT Gyl plad = Al gt (A oo ¥ 22l0Ls) s Leau - alad) & g3l sl yold aLa| Balgds (sl

I3 Give reason for: e -1
Nickel — chromium alloys are used in heating | clate 3 pg,Sty JSad! clilew RITEH
coils and electric furnaces. Ao ST O a Y g Cpduadd|

Compare between alcohols and phenols | -2 &% gty O¥ g3 G yLB -V

in the table below. 98 [ () PHE {
Point of comparison Alcohols Phenols
PAR\V-PA L Y gosT Y gall
Acidity |

demelstiamys [ N — i

Reaction with caustic soda
WgISI 13 guatl pe Jelant! S | NN 2 e o\ 4

m Naphthalene and diphenyl are aromatic | SLS yatt (e Jucedtt 310 g (i aid) - A

compounds. A Leg, ¥
First : ;Vrl}‘ie down the structural formula of Lagin ST AL | Rieaal | LIS ,ér,i
ac . ‘s
Second: How many moles of hydrogen are | %! O0xza06d! S¥gs sae Lo Lok
sufficient to saturate each of these flogin S p0 JS aad
compounds?
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YAV/YNT Gty aladl - LA jgat (A ¥ 2200 s lea - Zalad) g3l Al yodl alad| Balgs (yloital

m The diagram below illustrates a galvanc cell  A0lale Ads 2 g T JSEY -4
(V)
W
Salt bridge aates s

First : What do you expect for the value|asdintizsatiie st pdgoisinlae ¥ i
of the electromotive force if the zinc | ads caws Jlagduw! @i 131 Ao pgSI
half-cell is replaced by an iron half- [ Seoast ds i (e Lt

cell? Sl
Explain your answer Aumnlal) 5 pdaial ad ) die G f3le £ LG
Second: What would happen ifthe salt bridge S L |y SEASS | T glms (o

1s taken out from the cell solutions?
Explain your answer.
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YOV/YAT Gl yld aladf— AL 59t

Choose to answer (a) or (b).

Write down the scientific concept that

expressed as:

(a) An aromatic compound in which two
hydroxyl groups are directly attached to
the benzene ring.

(b) A polymer that is heat-resistant,

electrically insulator, inert and used
in surgical threads.

Choose to the correct answer:

The reaction between hydrochloric acid and
propene gives:

1,1 dichloropropene.

1,2 dichloropropene.

2- chloropropane.

®OeE

1- chloropropane.

o o W1 ZALL) o LeauSH — Tolalt 2 g3l | ol ytf ala Balgds (slomial
o o0 1) sheas L9 SR

£(2) 91 (1) (o Aala 31 s -1 -
13yl e JIAM elall llaael | LS
On ! Al did Sl (bl oS e (1)
S 9y (e gamas 8 pilie
Jileg 351,01 Sl ss ey jed 9 (o)
o guind! (B puiniiut g Jalin g oLy pgSUT
syt

s Avouall Aala W1 5 - )

o HlusSongl! paes Jelai e
g (i g )

09290818 HSLE N A ®
(990818 ALS Y @
Dbgrmss ¥ )

ROETPTIT e @
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YAV/YNT Gty alatl - LA jgat (A oY1 23000 s Lea - Zalad) g3l Aty alad| Balg (yloital

Give reason for: e -1 Y
Phenolphthalein is not used to distinguish | joceaidt 2 dlial gt adsing ¥
between ammonium chloride and sodium | ;589 pg-cga¥ i dyyslS ot gloms (3o
chloride solutions. g3 guall

In the following reaction I Jolal 8 -\

AgNO;+ NaCl ——— NaNO; + AgCI

Which graph represents the relationship |(me 28Mall (je jas 2JEI JISa¥ gl
between the concentration (C) and time| . (T) o315 (C) & Melaiad! 58,3
(T)?

N \

T T T T
@ ® @ ©

Show by chemical equation the effect of
passing steam over hot iron.

Slrel 31 Al Walastl ming -V €
O3l coast ) e sled ! i
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YAV/YNT Gyl plad = Al gt (A ol ¥ 28l0Ls) s Leau - Aalad) & g3l sl yold aLa| Balgeds (sl

Using one reagent, how can you distinguish Lloc jead LS oo g caalS alasiwl -\ o
practically between the solutions of sodium | agss gal! ity 18 ombo Jgloo (o

sulphide and sodium sulphite salts? 933 gl | Sl ;S
Choose to answer (a) or (b). (@) 31 (1) o2 Aala ¥ i -1
Show by equations how to obtain: 1o e S Al LS O s laetl s g
(a) Trinitrotoluene from benzene. SRUSCH ORI PP R PV ()
(b) Cyclohexane from phenol. J sl (re Attt Hlusgl (o)
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Show by equations both oxidation and |s.ws¥1Jelss (yo MS E¥slactl ging -V
reduction reactions in the fuel cell. 298 M Ads B J1us o Jelady

Show by equations how to obtain iron III [ w;s e Juaxmi a8 O¥slaally g -\A
chloride from magnetic iron oxide. ratolinad| syt i cpe Il
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YOV/YAT Gl yld aladf— AL 59t

Choose to answer (a) or (b).
Write down the scientific concept that is
expressed as :

(a) The reaction that proceeds almost to its
end having a high value of equilibrium
constant (K¢).

(b) Concentration of the saturated solution
for springly soluble salt at a certain
temperature.

(el ¥ A3 0Ls) o LeauI1 - alad | g3 Ayt aled | Balgs (lowial

£(2) 1 (1) e Aala 31 s 14

13kl le JIAN elal! allaael| LS

Lotie s IS0 pewn g1 Jelaidd M
s (K) oswrcats ossy

Tl (o pdied! Jalmall 58,5 (o)
day e slodl G QLo momd
e 5yl

Show by equations how to obtain|l bax=i s O¥sladdl gy -Y:

propanone from a suitable alcohol.

Choose the correct answer:
The compound 2,2 dimethyl butane is
considered as an isomer of the compound:

®
®
©
@

2- methyl butane.

2,2 dimethyl pentane.
2- methyl pentane.
2,2 dimethyl propane.

10

sulin J 98 (po O g3lig 41

 domouall Aala W i -
OLign J=tiee (LD ¥ oY S palt iay

1S pall yag 5l

Olige Juice —¥ O

Ol Juie LS Y (Y @
RN,

Ol dine vy (9
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In the following reaction: L Jelad) o -YY

N,H,

(g)

——= N, +2H,, AH=()

What is the effect of increasing pressure on Telaid | s Lo dasiali3al) 50 Lo

this reaction?

Give reason for: rdle-YY
The copper ion Cu?* is coloured, while the |« ;315 s Leia e gte Cu’’ Lulouidt g
zinc ion Zn?* is colourless. Oske pi Zn”"

Show by equation the reaction between | agssgual! wosgs Jolad Walaadlizsny -V
sodium 1odide and silver nitrate. sl Oy e
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YAV/YNT Gyl plad = Al gt (A ol ¥ 28l0Ls) s Leau - Aalad) & g3l sl yold aLa| Balgeds (sl

Choose to answer (a) or (b). () 91 (1) s Aala W1 jixi -Yo
Show by chemical equations how to obtain: | il Jbasi 28 4oL S S¥slaetl g
(a) Iron (IIT) oxide from iron (IT) oxalate. () s OYLST (o (T ot | s (1)
(b) Iron (II) sulphide from iron (IIT) oxide. () i STy (1) oot s 48 (o)
12
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The molecular formula C, Hs O represents
two isomers. Write down the structural
formula of each of them. How can you
distinguish practically between them?

O ol C2H60 %}aﬁ‘ daall -Y1

Oy 3]

S hogin IS AGLD daall LOS)
QL:-LQ.G L%M‘é\.’&ae

13
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YAV/YNT Gyl plad = Al gt (A ol ¥ 2al0Ls) s Leau - Aalad) & g3l sl yold aLa| Balgeds (yloia!

Four monovalent elements A, B, C and | D, C, B, A 53S0 Zaals| jolic dayyl YV

D whose oxidation potentials are given s Jgumdly Lgious 3 gg
in the table below:
A B C D
04V -0.8V 0.76 V 29V

Calculate the greatest value of electromotive | 4w ¢S 2281t 3530 Aed 2T Cows
force that can be obtained when forming a|aolats ads (4 eSil lgde J gt EliSan
galvanic cell using two of these elements, and | ccSty « jwliall sia o (o raic o
write the diagram that represents this cell. dad 00gY o a5,

14
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YAV/YNT Gty alatl - LA jgat (A oY1 2300 s Lea - Zalad) g3l Aty alad| Balgs (yloital
Choose to answer (a) or (b).
Write down the scientific concept that is
expressed as:
(a) The process of coating the metal to be
protected frgrp rusting by another metal BN g b W ekl (o)
of less reactivity. “w w
. . : : S [y 2 PE | AcileausIt
(b) Systems in which the chemical energy is IS O Srpes WL A M e
converted into electrical energy through |¢ 125 J'5&ly sus Jela

spontaneous irrversible oxidation-
reduction reaction.

() 9 (1) 5o A3l W1 >3 - YA
18 )kl e JIdl elal) mllawed| OS!
O doles sl yalt ot ddais adee (1)

o Lid die JBT 451 jlay Tuall

oS

Choose to answer (a) or (b).

Write down the equation of Hematite
reduction in:

() 91 (1) oo Al W1 i - Y4
¢ (o8 CeliLauglf J1 3551 A3 Lae US|

L Ladl (s patl M

(a) The blast furnace. S s 0,3 ()

(b) Midrex furnace. .
15
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YAV/YNT Gyl plad = Al gt (A o ¥ 2al0Ls) s Leau - Aalad) & g3l sl yold aLa| Balgeds (sl

Choose to answer (a) or (b). 1(2) 9l (1) (s Aol i -
Show by chemical equations: P A0 LS O¥ alaatly g
(a) The reaction of diluted hydrochloric acid | cxasel! dliygiS g gl paes Jelai (i)

with sodium sulphite. . pgasguall Cells oS ae
(b) The reaction of hot concentrated sulphuric | jS, et lin, 31 oo Jelai (o)
acid with hydrogen bromide gas. O 9 gl s g o S ae (3Lt

Choose the correct answer: + Al | Al W1y~ T\
If30 ml. of nitric acid is neutralized with 10 ml. | Je 10 pe il i3t aas (30 Jo 30 Jalas 130
of magnesium hydroxide whose cocentration | «sy¥se 0.3 0.8 55 a gwid Ll f e g yuiia (10
i1s 0.3 Molar, the concentration of nitric acid 16 9hun L S| (e 3855 Old
equals:

@ 0.01 Molar %34 0.01 (1)
(®  0.02 Molar $¥340.02 O
@ 0.1 Molar ($s¥50 0.1 @
@ 0.2 Molar ($i¥90 0.2 @

Give reason for: rdle ¥
Iron melts at a very high temperature that| e’ idle 5, ax s dic dodst! ygain
reaches 1538°C. angieNoYA I
16
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An electric current is passed through | g, it Jolme 2 3568 SLG el —¥¥
an electrolytic solution of silver nitrate | aaall (o 2831 (po Adaall oo

between an anode of silver and a cathode sl e 39318
of iron. Show the change that would |.:s3IS3 A8 e 1oy U1 piidf g
happen to the cathode mass. Explain il |

yYour answer.

Show by equations how you would obtain [ ;e Juasi a8 O¥slaally moy -YE
carbolic acid from the simplest aromatic | {g:,S g yued dawnl (yo Sl g, S (e
hydrocarbon. .lag)l

17
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YAV/YNT Gyl plad = Al gt (A ol ¥ 28l0Ls) s Leau - Aalad) & g3l sl yold aLa| Balgeds (sl

If the degree of solubility of aluminum | “wSgyes Oligs amys cols 131-Yo
hydroxide A1(OH)j5 1s 1076 mole/litre. 106 gstus AL(OH);  pguie 131
Calculate the solubility product of|wiy Jols 1ad cwnt U /Jge
aluminum hydroxide. s g S g yig!

Show by chemical equations how to | =i aS 4l st O¥alactl mng -1
obtain ethane from methane. Oliet ! (e OLLN Lo

18
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YAV/YNT Gty alatl - LA jgat (A ;¥ 2200 s Lea - Ralad) g3l Al yodl alad| Balg (sloital

Choose to answer (a) or (b). 1(2) 9l (1) v Aol o5 -YY
Write down the scientific concept thatis| :3Lal e JIu galalt mllamedt CGSH
expressed as: salalt GligSe e it Lgd ol dddes (1)

(a) A process involves the identification of | .slgeduc (yo Uoglie oi dudi ColS £lgw
the constituents of a substance either being | (o astas e 58,5 (i Adac ()

pure or a mixture of several substances. e dwglaay  asls  Jglee
(b) A process of determining the concentration | Jalais 31 s alal! Jolmal! 5.8 559
of a given volume of an acidic solution by Lolal das

knowing the volume and concentration
of the alkaline solution that completely
neutralizes it.

How can you distinguish, without using | aalsS alasiw! Ggus jwed S -¥A
chemical reagents, between lead (II)| eolo ! wiyslS mlo o adlues
oxide salt and potassium chloride salt? 3p gl g | 5518 eta g (1)

19
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YAV/YNT Gyl plad = Al gt (A o ¥ 2al0Ls) s Leau - Aalad) & g3l sl yolh aLa| Balgeds (sl

Choosg the Forrect answer:  Asvouall Aala W1 pini-Y4
The following ions are paramagnetic and | assley awidaline fyly AdL SLiged
coloured, except: .
® T T @
@ Mn 2* Mn 2t @
© Fe Fe? @
@ v Ve

ETM What would happen after a while from |pacss (re Zie) 5,8 war G file £
dipping a magnesium rod into a blue|(we Jelms 2 pgwisled! (oo Elw
copper sulphate solution? §el8 5331 Lulomid | Ol 18

Show by chemical equations how to | Jams oS adlestoYalact by - £ )
obtain triglyceride ester. ok et A S e

20
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Give reason for: b Lt Yo -2 Y
The lead acid battery is considered as a|i e duaocl=tl [olw,tl dyjllay  ,cal
secondary galvanic cell. LA g1 A LAl | L SR

Choose to answer (a) or (b). () 91 (1) e Aol M) pdd -¢ ¥

Show by chemical equations how to obtain: | : ole Je>d 28 AoLesI O¥ slaelly pdy
(a) An organic compound from an aqueaus | (S ! ile Jolos (yo g gne oS pa (1)

solution of two inorganic compounds. ORgde il
(b) Dihydric  alcohol = from monohydric [J$>S (- deuSgrgll Hlia Jss Ee)
alcohol. S g gt (galsd
21
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YAV/YNT Gyl plad = Al gt (A ol ¥ 28l0Ls) s Leau - Aalad) & g3l sl yold aLa| Balgeds (sl

E¥H Arrange the following steps to obtain | e Jsiastt & L8 Sigtasti cdy-£ ¢

sodium ethanoate from sucrose: 1 3955l (pe A g3 gualt Ol g3
(Complete oxidation - Fermentation - — Jalad - JamS reii - Aeli duws))
Neutralization - Hydrolysis). (e Yo

Calculate the pH value of a weak mono- | s> Jgimed pH dad cownt -0
protonic acid of concentration 0.2 0.2 048,35 Ogigrd! Golal camss
Molar, given that its degree of ionization | gslus anls 258 ob Lale G ¥ge
equals 0.03. 0.03

22
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